- — B = H =
EEREEMEX—ER No.l (FH#HET. smHOEREFZ 20185 45 18
HWEEEIREHRE
F1ESEHBR E2EEE®RK E3IEEEMR F4EEEBR F1-1EEEH®HK F2-1EEEMK
=it |
1= 0.6, —
1 o 1
2 17 ® 17 20 ]
ki m =
2 15m 2 g
fﬁ = Tm
8m il 8m T
1587 (150/60) - 250 7 (150/60) I 5 & i 167 (200/60) IZ3EE
L} 1 _ ! _
1 1
il / s 7
12m 2 15m 2
i Tm g Tm &
5m T 8m T
VEHIZHEE Hit 161 (150/60) IZ#55E =it 160 78 (200/60) - 200 B (1R R 2MEE-EEFICEE
— 1 — 1
- 1 ]o.sz_—— ]0.67
=
0.607, — — -1
w % i ® 17
bt at
10m 2 15m 2 15
il 5 Trm " g Tm "
VE BB 2B B (165 P 1607 (% & IR 15 m) [ p 1607 (H2LLAY) 2R IR V-2 MBI 2% (150/60) 2165
P prEi |
fn 0.607
& 1 o 1 o 1 . 1 o
0.6 17, 17, 1.2517,
il 5 5 5 5
1om g 15m o 15m g 12m 2
Il 5 Tm H Tm ] g
T 8m T 8m il 4m 5m il
HEFISHEE i 1REICHE
& 0 6117 — 1 —
1
2 7 :
10m 2 15m 2
) 5m g Tm ™ g
- — -
Xt HEHIHEXR S 10m wi it =i 1
0 6117 - 0 6117 0z
B v o 1 - 1 o 1 —
0.607, x 1E® 17, 17, 1.2517,
A & 20m
10 15m &
Ll 5m m 7m e Im 15m 10m
T 8m T 8m T 8m T
F1TESERK F2EEEMBK E3EEEMK FiEEEHK ESHEEEHBR FEoHEFEMR
LEd VE¥-2EMISiEE LEd LE LE] 1 LEd LEd
P P P | prc N P N P
] ] ]0 o N ] 0.607 ] 0.602
0.607 . 0607 " 17, ZOmg 17, 3im ¥ 1.257, 3im % - S 3
10m & 15m & H & x &
5m H Tm g Tm Tm 10m
i — — m Ty T,
R
i) FETESEHBK EeEEEMHRK
Hit
- BHEOBERE
2 45m 2 TmiLE
& ; &
m




